1/17/2020 Instrumentation

Disclaimer: Displayed questions are not as per the sequence in which candidate has actually attempted the questions

in question paper.

Post Name: Junior Trainee - Instrumentation

SECTION 1 - GENERAL KNOWLEDGE

Question No.1

Recently who crossed the English Channel successfully on a jet-powered hoverboard for the 1st
time?
ABHY SP00S” FOIOM &e5 DO F D6’ AR TPIGH DeoLBoBOP TBHG JDC?

(A) O Ushoshi
&

(B) O Franky Zapata
Jod adoer

(C) O Sanijiv Sagata
RoBD DIrEr

(D) O Priti Patel
QD DS

1.00

Question No.2

Which of the following is not a neighbouring country of India?
800 TS erEBBT IS VOPG B0 G I&?

(A) O Nepal
SIS

(8) O Bhutan
Hrerd

(C) O Vietnam
JoHT) 0

(D) O China
B

1.00

Question No.3

The Deodhar Trophy is related to which of the following games/sports?
"B66 ¢5°0" o0& TS’ D 3/ 20e20HOVI?

(A) O Cricket
a6

B) O Golf
K,

(C) O Badminton
erc?.&ow%

(D) O Snooker
Qo) 86

1.00

Question No.4

The Revamped Public Distribution System (RPDS) was introduced in
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@édsésggsdm D2 HDodE3 255% (RPDS) RoDB\GoeS® HDFDELRAO
(A) O 1994

1994

(B) O 1992
1992

(€)O 1993
1993

(D) O 1991
1991

Question No.5

Hajo pilgrimage centre is located in which of the following States?
58 29eagEB0(DINE 20e:b) $0b D TR od?

(A) O Mizoram
QE’oro

(B) O Nagaland
Iereerod

(C) O Assam
esbfbo

(D) O Arunachal Pradesh
TS DA%

Question No.6

Recently, who has been re-appointed as the Chairman of National Anti-profiteering Authority?
ABHY VoS’ INDS airoB-F1BOA WTPod BELIM™ A0H DCHIBTI JHW?

(A) O Ashok Kumar
0T A6

(B) O Badri Narain Sharma
@@ 33D 36),

(C) O Vijay lal
Dol erds

(D) O Bharadwaaj
BOe(B

Question No.7

Who took the additional charge of post of Director General Narcotics Control Bureau to Director
General of Civil Aviation Security?
G086 2566 T°8) B8y Soi’S a8 HDEDS e GOEE 236 4D VIS DD DEFHOS eSO

930 %Ssoo{:)aa DHE?

(A) O Anil Agarwal
¢S eario"sé

(B) O Rakesh Asthana
oe8D D

(C) O Raijiv Ghosh
PR PR
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(D) O Renu Hassan
Be 0D

Question No.8

The financial year of RBI ends in
RBI c3og); 598 ®oddGo & B8

(A) O February
DYD
(B) O September
00026
e
(C) O June

20

(D) O December
aoeb

1.00

Question No.9

Which is the third highest layer of the Earth's atmosphere?
BororErdt0 lE); AED B DS E?

(A) O Mesosphere
bo.‘?)‘?o;o&é

(B) O Thermosphere
&8 Dyadb

(C) O lonosphere
DI 856600

(D) O Exosphere
I8’y e95GEas0

1.00

Question No.10

Which of the following boundary lines lies between India and China?
806 D VBTG B ePES O PO BHIGY Eod?

(A) O Radcliffe Line
U°5&§§a S

(B) O Maginot Line
SAS¢ES S

(C) O McMahon Line
8D T

(D) O Durand Line
corgorol B

1.00

Question No.11

What is the expansion of the acronym 'DRDO' (a government agency)?
'DRDO’ (258 0308 00R) @D £ drards DYsee Aed?

(A) O Defence Research and Development Organisation
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ARy 826y W0l EHOD0E YIBUD

(B) O Defence Reconstruction and Developed Organisation
G BEIRES ok BIVDE BEJFAD

(C) O Defence Resource and Development Organisation
GDIY 06 @0l BOVOIV SEIBND

(D) O Defence Revamped and Distribution System
&2_353 60’053 o0& &?8&1)‘5:.15 ‘?o{go

Question No.12 1.00

Yellow revolution is related to the increased production of
D’ 8T rfad (DX03Y DPH0) IO B &S DoYS VoeBoDIO

(A) O Oil seeds
A Aoen

(B) O Cotton
o]

€) O Milk
e

(D) O Fibre
226

Question No.13 1.00

Who said the slogan, "Arise! Awake! Stop not till the goal is reached"?
"J8&! 98! gvé ¢S S5 &8 BS &d 6SE"(Sd0d! Q07 Doc! (Hdogo BBHELH DFNocsSoct) WD

fomwi)l&‘)éa DDD?

(A) O Aristotle
0P BS

(B) O Swami Vivekananda
I D08

(C) O Dayanand Saraswati
¢503°008S “&6‘«()593

(D) O Jawaharlal Nehru
296 ;e

Question No.14 1.00

In finance terms, what is the full form of "GDP"?
eSS Desere0eS” "GDP" £330 630 d?

(A) O Gross Domestic Product
TR E0§ gag

(B) O Green Domestic Product
B E20R8 Te§

(C) O Gross Domestic Process
TR E0R8 T

(D) O Gross Durable Product
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TR Crg6ens Te§

Question No.15

Who founded the Servants of India Society?
D005y B35 R0AIr T DEDFDL HE?

(A) O Subhas Chandra Bose
202 90g3es D

(B) O Gopal Krishna Gokhale
Bdro g Fad

(C) O Mahatma Gandhi
20y, ok

(D) O Motilal Nehru
e DT

1.00

Question No.16

Guru Granth Sahib is a Sacred book of which religion?
HHGS IS D B0 g DG Gocsdw?

(A) O Buddhism
LA VISV
Q
(B) O Hindus
S0

(C) O Jains
S

(D) O Sikhism
b&‘oz,

1.00

Question No.17

Which of the following metals is the best conductor of heat?
800 ST’ BB e T DB?

(A) O Silver
dod

(B) O Mercury
J30

(C) O lIron
RAVAB

(D) O Aluminium
esw5§.).>.'3di)o

1.00

Question No.18

Which of the following animals is called the Ship of the Desert?
806 To8S” D 20800 50 s @D DeVFE?

(A) O Lion
oA
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(B) O Horse
Ogo

(C) O Donkey
[oilete)

(D) O Camel
2,083

Question No.19 1.00

What is the full form of LPG, in controlling vehicular air pollution?
TEPD TPos STy Dododee” LPG aing) 3378 6570 d0&?

(A) O Liquid Pressure Gas
OS(& p2d g0

(B) O Liquefied Propane Gas
&6 TS S

(C) O Liquefied Petroleum Gas
DS(DE 1E daso myd

(D) O Liquidity Petroleum Gas
93 2 Dato Mg

Question No.20 1.00

The Relief rainfall is also known as
03200 TS0 (695 BoNOIES) T Lre DeSWES

(A) O Convectional Rainfall
R08953° Dga"éo

(B) O Orographic Rainfall
B’.)dsédi) éga"éo

(C) O Cyclonic Rainfall
SETS HGJdo

(D) O Frontal Rainfall
Dore5 égb"éo

SECTION 2 - WORKING ENGLISH

Question No.1 1.00

Choose the word which best expresses the similar meaning of the given word " BATTERED "
Choose the word which best expresses the similar meaning of the given word " BATTERED "
(A) O Adorn

Adorn
(B) O Shatter

Shatter
(C) O Praise

Praise
(D) O Assist

Assist

Question No.2 1.00

Choose the word which best expresses the similar meaning of the given word " AFFLUENT "
https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Instrumentation.html 6/41
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(A) O Abundant
Abundant

(B) O Destitute
Destitute

(C) O penniless
penniless

(D) O Indigent
Indigent

Instrumentation

Choose the word which best expresses the similar meaning of the given word " AFFLUENT "

Question No.3

Goa is beautiful State in India

Goa is beautiful State in India
(A) O the
the
B)O a
a
(C) O No article
No article
(D) O an

an

Fill in the blanks with suitable Article from the given alternatives.

Fill in the blanks with suitable Article from the given alternatives.

1.00

Question No.4

(A) O Meaningfull
Meaningfull

(B) O Restarant
Restarant

(C) O Elegant
Elegant

(D) O Treetment
Treetment

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

1.00

Question No.5

(A) O Buisness
Buisness

(B) O Meaningfull
Meaningfull

(C) O Permision
Permision

(D) O Fictitious
Fictitious

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.

1.00

Question No.6

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Instrumentation.html
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Fill in the blanks with suitable Preposition from the given alternatives.
My friends are ready attend the party this weekend
(A) O for

for
B) O to
(C)O by

(D) O since

Question No.7

Choose the word which expresses nearly the opposite meaning of the given word " FEUDAL "
Choose the word which expresses nearly the opposite meaning of the given word " FEUDAL "

(A) O Modern
Modern

(B) O Archaic
Archaic

() O oIid
Old

(D) O Antique
Antique

1.00

Question No.8

Choose the word which best expresses the similar meaning of the given word " LAMPOON "
Choose the word which best expresses the similar meaning of the given word " LAMPOON "

(A) O Flattery
Flattery
(B) O Support
Support
(C) O satire
Satire
(D) O Praise
Praise

1.00

Question No.9
Fill in the blanks with suitable Article from the given alternatives.

| have umbrella in my bag
Fill in the blanks with suitable Article from the given alternatives.

| have umbrella in my bag
(A) O the
the
B) O a
a
(C) O No article
No article
(D) O an

an

1.00

Question No.10

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
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(A) O Bagage
Bagage
(B) O Quanch
Quanch
(C) O Langwage
Langwage
(D) O Loitering
Loitering

Question No.11
Fill in the blanks with suitable Preposition from the given alternatives.

Our nation is independent 1947
Fill in the blanks with suitable Preposition from the given alternatives.

Our nation is independent 1947
(A) O for
for
(B) O since
since
(C) O along
along

(D) O through
through

1.00

Question No.12
Fill in the blanks with suitable Preposition from the given alternatives.

There are approximately 80 different types autoimmune diseases and they affect
more than 23 million Americans
Fill in the blanks with suitable Preposition from the given alternatives.

There are approximately 80 different types autoimmune diseases and they affect
more than 23 million Americans

(A) O of
of
(B) O from
from
€) O with
with
(D) O for

for

1.00

Question No.13

Choose the word which expresses nearly the opposite meaning of the given word " ENSLAVED "
Choose the word which expresses nearly the opposite meaning of the given word " ENSLAVED "
(A) O Enclose

Enclose

(B) O Suppress
Suppress

(C) O Deprive
Deprive

(D) O Liberate
Liberate

1.00

Question No.14
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Choose the word which expresses nearly the opposite meaning of the given word " DILATE "
Choose the word which expresses nearly the opposite meaning of the given word " DILATE "
(A) O Inflate

Inflate
(B) O Enlarge

Enlarge
(C) O Narrow

Narrow

(D) O Protract
Protract

Question No.15 1.00

Fill in the blanks with suitable Article from the given alternatives.

India consolidated their lead in ongoing Test cricket series
Fill in the blanks with suitable Article from the given alternatives.

India consolidated their lead in ongoing Test cricket series
(A) O No article
No article
(B) O an
an
(C) O the
the

D)O a
a

Question No.16 1.00

Choose the word which expresses nearly the opposite meaning of the given word " BUSTLE "
Choose the word which expresses nearly the opposite meaning of the given word " BUSTLE "
(A) O Delay

Delay
(B) O Dash

Dash
(C) O Hurry

Hurry

(D) O Hustle
Hustle

Question No.17 1.00

Choose the word which best expresses the similar meaning of the given word " INTIMIDATE "
Choose the word which best expresses the similar meaning of the given word " INTIMIDATE "
(A) O Soothe

Soothe

(B) O Assure
Assure

(C) O Incite
Incite

(D) O Frighten
Frighten

Question No.18 1.00

Find the word which is correctly spelt from the given options.
Find the word which is correctly spelt from the given options.
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(A) O Prodection
Prodection

(B) O Invention
Invention

(C) O Breething
Breething

(D) O Satisfacttion
Satisfacttion

Question No.19

Choose the word which best expresses the similar meaning of the given word " EMBRACE "
Choose the word which best expresses the similar meaning of the given word " EMBRACE "
(A) O Free

Free

(B) O Distrust
Distrust

(C) O Lock
Lock
(D) O Give
Give

1.00

Question No.20
Fill in the blanks with suitable Article from the given alternatives.

Regina gave birth to twins in August
Fill in the blanks with suitable Article from the given alternatives.

Regina gave birth to twins in August
(A) O an
an
(B) O No article
No article
C©)O a
a
(D) O the
the

1.00

SECTION 3 - GENERAL APTITUDE

Question No.1
28! February 2025 falls on which day of the week?
28 2398, 2025 c60eS® D Berd H00d?

(A) O Saturday
3QT°Go

(B) O Friday
BogaoBo

(C) O Thursday
DTG0

(D) O Wednesday
EAVmFoilole)

1.00

Question No.2

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Instrumentation.html

1.00

11/41



1/17/2020 Instrumentation
Find the next number in the series.

429, 468, 442, 481, 455, ?

33" STP(B Doy EXF Dol

429, 468, 442, 481, 455, 2
(A) O 458
458
(B) O 481
481
(C) O 494
494
(D) O 416
416

Question No.3 1.00

Find the average of 8 numbers 47, 39, 36, 43, 22, 51, 73 and 81.
47,39, 36, 43, 22, 51, 73 208050 81 e 8 Doage Dt S0ff dod.

(A) O 49
49
B) O 51
51
(Cc)O 45
45
(D) O 47
47

Question No.4 1.00

A man buys a CCTV Camera for Rs.1680 and sells it at a loss of 15%. Find the selling price of the
CCTV Camera(in Rs).

28 58 2.8 CCTV 820070 Rs. 1680 & £ oD 15% d3rD8 dgonoercw. &8 CCTV 2o cdws)
30 8L BB EX0F Do (Rs.0°).
(A) O 1408

1408

(B) O 1428
1428

) O 1418
1418

(D) O 1438
1438

Question No.5 1.00

Replace the question mark with an option that follows the same logic applied in the first pair
Frog : Tadpole :: Donkey : ??
200 BSS° HYoid TO) 0TV WV wé’)‘)soe‘? o) g8 g"z‘u‘b‘l 00308

Frog: Tadpole :: Donkey : ??
(A) O Bunny
Bunny
(B) O Fledgling
Fledgling
(C) O Mule
Mule
(D) O Spat
Spat
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Question No.6 1.00

Find the next number in the series.
27,28.5,31,34.5,39, ?
335" B0°(B Doy 0Tl
27,28.5,31,34.5,39, ?
(A) O 43

43

(B) O 44.5
44.5

(€)O 455
455

(D) O 45
45

Question No.7 1.00

A fruit seller had some oranges. He sells 75% of oranges and still had 250 oranges. How many
oranges he initially had?
28 D0g HPLD DG EDY T00RDOE) &) 0. 90ceS° WA 75% DFYD 9N ST(S LT BVDE

@os° 250 Jrdozs0g WNDET™) AN, WBIDE AL &) T80 ) ?
(A) O 800
800

B) O 1200
1200
() O 600
600

(D) O 1000
1000

Question No.8 1.00

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
AN aa&)‘)s“v Q0od TR DOB0/Dog/edtro 280 $A &) wzi')()s"fb‘l JotoEod.
(A) O MP
MP
B) O vy
VY
(C)O sw
SwW
(D) O QT
QT

Question No.9 1.00

Which of the following years is a Leap Year?
800 TBS" B2 DodByGo DB?

(A) O 546
546
(B) O 545
545
(C) O 548
548
(D) O 547
547
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Question No.10 1.00

In a certain code language, if CHILD is coded as 389124, then how is LUCKY coded in that
language?
0523 E& 230¢5°, CHILD e93& 389124 e §& S0l B, 098 erneS” LUCKY 936 der §&

B00eH0H?
(A) O 122141125

122141125

(B) O 122121125
122121125

(€) O 122131124
122131124

(D) O 122131125
122131125

Question No.11 1.00

If in the number 9783724563 first all the even digits are arranged in descending order and then all
the odd digits are arranged in descending order, which digit will be in the seventh position from the
right?

9783724563 95 ogeS’, 200658 10 Ko B 387 E00eS 0N &8 B &8 Do

STIEr 2006 VBB DGO HDYD WogxeS” L& DIG o e FR0S’ ol W08 DB?
A) O

7
7
2
2
€)O 9
9
4
4

Question No.12 1.00

Choose the alternative which is an odd word/number/letter pair out of the given alternatives.
QDN ao:i)asw Qo0& TR DESB/Dog/eiTre 2820 $A &Y az‘i)()?b‘l doc€od.

(A) O Vertical
Vertical

(B) O Circular
Circular

(C) O Perpendicular
Perpendicular

(D) O Straight
Straight

Question No.13 1.00

A shopkeeper earns a profit of 20% by selling an article at Rs.558. Find the cost price of the
article(in Rs).
2.8 DDA Rs. 558 £ 9y 28 57 02207 20% ergio Totwmred. &8 HRPDRL §1) &6 do&

20800 (Rs.0e5°)?
(A) O 467
467

(B) O 465
465

() O 469
https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Instrumentation.html 14/41
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469

(D) O 463
463

Question No.14 1.00

Find the value of (a%-b%), given that (a2+b?) = 74, (a-b) = 2 and (a+b) = 12.
(a%+b?) = 74, (a-b) = 2 Ho6a3» (a+b) = 12 eand, (a%-b?) Dewdd EXFHA.
(A) O 1772

1772

(B) O 1776
1776

() O 1770
1770

(D) O 1774
1774

Question No.15 1.00

Find the value of X, if 25% of X + 40% of 165 = 132
X &5° 25% + 165 &5° 40% = 132 090208 X Dendadd 000,

(A) O 266
266
B) O 268
268
(C) O 264
264
(D) O 270
270

Question No.16 1.00

Karthik travels first 63 km of the journey at 63 kmph and the remaining 63 km at 126 kmph. Find
the average speed of the entire journey(in kmph).
B HA0e5°D D 63 km &0 5085 63 kmph Do a7, AdS 63 km o 126 kmph Btio& a5

DO, Do HAITEI0 AR, Ve ey (kmph &°) E2F 0.
(A) O 82
82
B) O 80
80
Cc)O 78
78
(D) O 84
84

Question No.17 1.00

A is twice efficient than B, who can finish the work in 76 days. How many days are required by A
alone to complete the entire work(in days)?

28 0D 76 Eer” 23770 Sosdriv B oeS A Bochd B DAGIED. Boogdo DAV A a8) & rRBoE=dS AV
Beren 0950620)S000(Bee’)?

(A) O 42
42

B) O 40
40
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(€)O 38

38
D) O 36

36

Question No.18 1.00

A boy is standing in a lawn facing South-West direction. If the boy turns 65 degrees in clockwise
direction and 155 degrees in anti-clockwise direction, which direction will he face now?

28 eenEd DDYES” PO BFL DR YD &T°) 6. &3 e V] B3S° 65 GHen 30N
05O3S” 155 Afen AONB, S QYYD D OFLD DAL ot

(A) O North-West
a°o§:oa§5o

(B) O South-East
estf) oo

(C) O North-East
éa?éso

(D) O South-West
DA

Question No.19 1.00

Jimmy walked 5m East and turns towards West and walked another 5m. He then walked another
5m towards right. How far and in which direction is he from the starting point?

20}, PGy PO 5M IGD HIY0 PP SN T 5M AT, e STS A LAEDHLD 8 5m
RETED. 0B WY FB0B F0 Mot Jod GrGoeS” 0k DBIS” &) ¢o?

(A) O 5m, South
5m, ¢&es0

(B) O 10m, North
10m, esb6o

(C) O 5m, North
5m, eddo

(D) O 10m, South
10m, &es0

Question No.20 1.00

If 41% of A = 61% of 41, what is the value of A?
A S 41% = 41 &S° 61% 2008 A Densd Jots?

(A) O 59
59
B) O 65
65
) O 61
61
D) O 63
63

Question No.21 1.00
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The average of 18 consecutive numbers is 27. Find the sum of 18 numbers.
18 5D Voo Dt 27 ° RDeICod. &8 18 Dogw 20T SRFDd.

(A) O 492
492
(B) O 486
486
() O 490
490
(D) O 488
488

Question No.22 1.00

In a certain code language, if BADLY is coded as CDFAN, then how is FORTY coded in that
language?
0523 8& 2305, BADLY e9:56 CDFAN ™ £& 300238, @98 23" FORTY 936 der §&

B030eH0H?
(A) O QHTAV

QHTAV
(8) O HQTVA
HQTVA

() O BWURI
BWUR]

(D) O ULIGB
ULIGB

Question No.23 1.00

?
?

77+17x13/(884+4)
77+17x13/(884+4)
(A) O 74

74
B) O 76

76
) O 72

72
D) O 78

78

Question No.24 1.00

Pointing to a photograph of a girl, a boy said " She is the sister of son of daughter of my only
brother". How is the boy's brother related to the girl?
28 e TR0 B0 208 e R0 T IFE FBHE LAFT HITAAES TB0” 0D DI, &3

£re0 VPBBC, €3 LS DADTED?

(A) O Uncle
©0LOS(I°O0K/eT°eT 0/ DETD)

(B) O Father
Sog

(C) O Grand daughter
ORITD

(D) O Grand father
TS0y
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Question No.25 1.00

Find the value of (a-b), given that a2+b? = 1105 and ab = 372.
a2+b? = 1105 208050 ab = 372 eond (a-b) e EFHod.
(A) O 21

21
B) O 17

17
) O 19

19

(D) O 23
23

Question No.26 1.00

If in the word COMFORTABLE, all the consonants are replaced by the previous letter in the
alphabet and all the vowels are replaced by the next letter then all the letters are arranged
alphabetically, which letter will be fourth from the left end?

COMFORTABLE @93 ¢30¢5°, i37¢000) 8 09563506° T3 3000650%) 09560 &5 06050
310D 08 VEBIFVES’ T8 BTS &) VLGOS VP DPENBD WP AP BOLT HDND DS D
VLTV BEEATY A0S VBB ©0ceS et DO &od YD WEG0 I?

(A) O

E
E
P
P
M
M
L

Question No.27 1.00

If January 1, 2056 is a Sunday, January 1, 2060 falls on which day of the week?
2558 1, 2056 esdaGo 9 285598 1, 2060 or60eS’ D Berd H0od?

(A) O Sunday
OIS0

(B) O Friday
BogaeBo

(C) O Monday
DTG0

(D) O Saturday
3QT°Go

Question No.28 1.00

Find the value of a2-b?, if (a+b) = 76 and (a-b) = 8.
(a+b) = 76 S06050 (a-b) = 8 e9ond a2 -b? Ve ST Do,
(A) O 608

608

B) O 612
612
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(€)O 614
614

(D) O 610
610

Question No.29

Replace the question mark with an option that follows the same logic applied in the first pair
Necessity : Essential :: Exigent : ??
2008 236" HPoid B0 FTV) WAVKOD DyEoE HT) G8 ) Wrdossods

Necessity: Essential :: Exigent : ??
(A) O Urgent
Urgent
(B) O Optional
Optional
(C) O Submissive
Submissive
(D) O Unimportant
Unimportant

1.00

Question No.30

If 40% of 'X' is more than 20% of 855 by 311, find the value of 'X'".
855 &° 20% ot3 X'S" 40% c3vg), Dend 311 &) S €50, X' Dewdaw S dod.

(A) O 1235
1235

B) O 1215
1215

() O 1205
1205

(D) O 1225
1225

1.00

Question No.31

47 typists can type 47 lines in 47 minutes. How many typists are needed to type 94 lines in 94
minutes?

47 2000 SR 47 GH0 47 DTS’ GO Bt 94 Had 94 Dres” BO Skt
oS08 GDEVL VBVBLDTE?
(A) O 45
45
(B8) O 47
47
(C) O 43
43
(D) O 49
49

1.00

Question No.32

A Train travels at a speed of 54 kmph and crosses a signal in 61 seconds. Find the length of the
train(in metres).

54 kmph Sriod HEORODY 208 T 2,8 ) S0 61 2EHS” TrenB008. &2 Few T EFDod
(oeoges’).
(A) O 945

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Instrumentation.html
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945
B) O 925
925
(€)O 915
915
(D) O 935
935

Question No.33

Find the next number in the series.
15, 17, 37, 115, ?
335" BTP(B Doy EX0F ol

15,17, 37, 115, ?
(A) O 454

454
(B) O 465

465
() O 497

497
(D) O 478

478

1.00

Question No.34

The average of 4 numbers is 52 and the 15t number is 1/3™ of the sum of the remaining numbers.
What will be the first number?

4 Dozge Dt 52. 90’ 155 Dogyy WADD Dogyw A0S 1/35 Hodkd Ded DA €od. &8 BB
Qoy AWA?
(A) O 51
51
(B) O 52
52
(C)O 54
54
(D) O 53
53

1.00

Question No.35

A is the husband of B who is the daughter of C. D is the daughter of E whose wife is C. How is A's
son related to D's son?

C 20273 o B 9 A 55g. C &0 aro S0 E € D 05078, 2y D £5r60dS A ©ar6
De0aHErn?

(A) O Son
O

(B) O Cousin
829

(C) O Brother
e Te Mot

(D) O Nephew
200Q0C / S0 O

1.00

https://rinl19.0nlineregistrationform.org/VIZAGSTDOC/Instrumentation.html

20/41



1/17/2020 Instrumentation

SECTION 4 - DOMAIN - INSTRUMENTATION ENGINEERING

Question No.1 1.00

Which is equal to 1 Kg/sq.cm?
1 Kg/sq.cm £ 28500087

(A) O 15 PSI
15 PS|

(B) O 0.14696 PSI
0.14696 PSI

(C) O 1.4696 PSI
1.4696 PSI

(D) O 14.22 PSI
14.22 PSI

Question No.2 1.00
What will be the resulting circuit if the inputs of NAND gate are connected together?
NAND ¢ cog), adipgn S8 Sendndd 008 20,5 dDu&?

(A) O NOT gate
NOT &¢

(B) O OR gate
OR @¢5

(C) O AND gate
AND ¢S

(D) O EX-OR gate
EX-OR @&

Question No.3 1.00
What type of damping is used in horizontally mounted Ml instrument?
82 DAToBBOTT &ocsertd Ml 0886065° O BERVD TroDoh &HAALILICIBI0E?

(A) O Air friction damping
Do PES ook

(B) O Electromagnetic damping
o)e)g wrs‘le?)é cooh

(C) O Eddycurrent damping
QééBoes to0f

(D) O Fluid friction damping
Prawd PES rodoh

Question No.4 1.00

The below question has been dropped for evaluation.

Which of the following pressure cannot be measured by Piezo electric pressure transducer?
8008 ROGRGD DETVES’ DO E° JVFE DB LPOVETRED SodecSey?

(A) O Steady pressure
26 o

(B) O Absolute pressure
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DO DEDo

(C) O Vacuum pressure
BP0

(D) O Atmospheric pressure
T D0

Question No.5 1.00

What is the function of swamping resistor put in series with the moving coil of a moving coll
meter?
w8 S0°Joh sPaes Db g, Dok SPoSE §e3eS° esouseattd Argooh BRRG g DD DNE?

(A) O To compensate for transporative variation
BT HiEesRo (LPOYTEBD S80HDy) & 838 Bdood

(B) O To achieve full scale sensitivity of the meter
Q6 GA0E), 270 S DAYBIBD JGoBooed

(C) O To reduce the full scale current
E) ) 50695 [felTANNY) e‘.‘éQoiﬁocﬁosJ

(D) O To increase the strength of the field
E8o Al erd) oD

Question No.6 1.00
For open channel flow measurements, are used.
800 S P Fodow DA AODLIETON.

(A) O Dpitot tubes
DL €25°4ES

(B) O orifice meters
30D (orifice) Doerd

(C) O weirs and flames
D6y 20800 Hoy

(D) O venturimeters

DocdEE
Question No.7 1.00
defines smallest measurable input Change while defines smallest
measurable input
83 FOdrrd adDE &°cdy QBRR00H, ST ALY Tk adDE™ QER0D.

(A) O accuracy and precision
CIPEB BB HRAD

(B) O resolution and threshold
Baerrgad dudakn 3G

(C) O threshold and resolution
BS 20dakw b

(D) O precision and accuracy
DN 200K AITLIBD
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Question No.8 1.00

is used in protection circuits for power system
DD BP0’ DT830 6405008 &DCITAOLIEIBI0B.

(A) O Linear Variable Differential Transformer
HA0H06 HOADEES EHTIAHS LrOVI 66

(B) O Instrument transformer
QDO LDV 6
3 N/
(C) O Step down transformer
RO @D Oy 6

(D) O Step up transformer
RO 0D AT

Question No.9 1.00

What is the other name of HART Protocol?
HART gPéS’seersd 088 8087

(A) O Hybrid protocol
D& PSS

(B) O Analog Protocol
derh JeS’seeS

(C) O Internet protocol
06 TS5

(D) O Digital protocol
aod PSS

Question No.10 1.00

Binary Coded Decimal is a combination of
B3 ER& B220S 0D g 2.8 SOWE.

(A) O Five binary digits
%0 B Dogdgen

(B) O Four binary digits
Trenth B8 voggen

(C) O Two binary digits
Bocd 86 Dogen

(D) O Three binary digits
Aaeed 806 Qoen

Question No.11 1.00

What is the pitch of the screw used in Micrometer?
DOEOF 00PN R, g, DS dods?
(A) O 1mm

Tmm

(B) O 3mm
3mm

(C) O 2mm
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2mm

(D) O 0.5mm
0.5mm

Question No.12 1.00

is a circuit that converts an n-bit binary data into 2" output such that each
output line will be activated for only one combination of output.

2D DD T 8DV0 28 NN SLOVEL JDIPGRL 065"?55(55 290'3350’ N-D¢& 836 Gerso 2"

€955 e5re :.u*’él) "«odrbzsés
(A) O Demultiplexer
G08386

(B) O Encoder
RIS
(C) O Multiplexer

(D) O Decoder
A8eb

Question No.13 1.00

How many Receivers are there in RS 485 Interface?
RS 485 20£:6506° 20y 0256 esotron?

(A) O 1 Receiver
1 8256

(B) O 32 Receivers
32 8dag

(C) O 2 Receivers
2 823

(D) O 10 Receivers
10 858>

Question No.14 1.00

Series connections in ladder diagram circuit represents
ereid Gasrmray c“odrzjsgf 26 g8 QATQFPo.

(A) O Logical AND
orges AND

(B) O Logical OR
eregess OR

(C) O Logical NOT
erges NOT

(D) O Both Logical AND & Logical NOT
er8eS AND & er2geS NOT Socir

Question No.15 1.00

The size of internal ROM of 8051 is 4 Kbytes with the address
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(A) O

(B) O

) O

(D) O

from 0010H to 1FFFH
0010H &ood: 1FFFH 56

from 0001H to 1FFFH
0001H &ood 1FFFH 56

from 0000H to OOFFH
0000H &00& 00FFH 565

from 0000H to OFFFH
0000H o0& OFFFH »6%

Instrumentation

8051 cBog), o ROM 280°cs0 OGS 4 $S°BEY eotod.

A) O
B) O
) O

(D) O

Question No.16

Convert (B2F)4g to Octal Number
(B2F)16 &0 e95ro3(esges ) Rogme Soe6yod.

(5754)g
(5754)g

(5547)g
(5547)g

(5574)g
(5574)g

(5457)g
(5457)g

1.00

(A) O

B) O

Question No.17

ATRIAC is a Switch
208 TRIAC 936 ‘?oer.

Bidirectional
BRBLIS

Unidirectional
OBDEBESS

Electro Mechanical
avg 2ozeEeS

Mechanical
A5°ES5

1.00

) O

(D) O

HART is a type of
HART @936 208 8820

Question No.18

Transmission control protocol
&P oS F&'srS

File transfer protocol
DS OyD6 PSS

Internet protocol
Q00685 FeS'see5

Simple mail transfer protocol
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202DS oS grd0d TS

Question No.19 1.00

For a power BJT, the base thickness must be as as possible to have good
amplification.
28 056 BJTS 89 0ot Derondos TP €0C800:98) 008 DYEE DVDBOE.

(A) O good
S00A

(B) O small
ALY
(C) O large
bgé

(D) O None of the above
A 0

Question No.20 1.00

theorem states that in an arbitrary lumped network the algebraic sum of the
powers in all branches at any instant is zero.
08 ©0DE JHE)S” ) TPVS'D DHEy AL, DBA3S 0o D 60 HFJT BRI

?QCQS“oéo LSVIALIVITAY
(A) O Maximum power transfer theorem
Borv0 DG ErONDS dgroso
& @
(B) O Compensation theorem
S"obi)DXAS ?ozg"oéo
(C) O Reciprocity theorem

BTN ‘?og"oéo

(D) O Tellegen's theorm
SGBS dgrodo

Question No.21 1.00

Wagner's earth devices are used in AC bridge circuits for
5 6 2§ wogToew AC QG :odsob5g,>es° 6L &DABTHoBIETON.

(A) O eliminating the effect of earth capacitance
DG BBy DY), Vo) BHotocdd

(B) O eliminating the effect of intercomponet capacitance
Q0826570 D05 Qbi’?o&)""ob aBog); Py SOA0BoLH

(C) O shielding the bridge elements
D& D200 BLodotoH

(D) O eliminating the effect of stray electrostatic fields
VARDS’ S JOEFBE Egro Perard) FoNoBocad

Question No.22 1.00

Which Provides controlling torque in Megger?
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0066° er6), VoG ©WoloBe I&?

(A) O Spring
2)oh

(B) O Weights attached to the moving system
IIA13] DOV &0TIIGRD LIBIHLD

(C) O It doesn't need any controlling torque
&S DGR JoRoger erf); 1o Sk

(D) O None of the above
DB 5o

Question No.23 1.00

AC Current cannot be measured directly by
DD &8oed D D™ Swdercdan.

(A) O Ml ammeter
MI eaba&e.)é

(B) O MC ammeter
MC e 626

(C) O Thermocouple type ammeter
@8 DS 60 )06

(D) O Hotwire ammeter
5526 o) 06

Question No.24 1.00

Which of the following is not the standard size of Vernier Caliper?
BoB8TBES’ DO DO) 0 D6 g, FAFEE DOITEI0 S°E?

(A) O 400mm
400mm

(B) O 150mm
150mm

(C) O 300mm
300mm

(D) O None of the above
P o

Question No.25 1.00

The reference value of a variable is called
208 BEo°D aBoog); 6:,)653 DendH €90EPED.

(A) O controlled variable
DB SET3

(B) O measured variable
DG DET?

(C) O eror
8?.’.10

(D) O setpoint
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26EJan0e5

Question No.26

Which of the following is the Electrical method of level measurement?
20BTHS® DO S5 020085 g, DS oo

(A) O Capacitive Method
828D dordo

(B) O Pressure gauge method
P26 (38 Joedo

(C) O Bubbler method
2086 deeedo

(D) O Liquid purge method
9S8¢& DY Do

1.00

Question No.27

are used as attenuators for higher frequencies.
OE PNV VEVIRGT DA AOIICETOD.

(A) O Filters
PP

(B) O Resistance attenuators
DEES o0t

(C) O Wave guide devices
DD gé& Hogorew

(D) O All the above
PO

1.00

Question No.28

Zener diode can be used as
896 ¢BrE B0 EDABIAOLICIBI0E

(A) O DC Voltage Regulator
&% g8 Brogdes

(B) O AC Voltage Regulator
2 6,95 BriogEes

(C) O Both AC and DC Voltage Regulator
A2 200030 I LGS TriogBed ToldS

(D) O None of the above
P o

1.00

Question No.29

MOSFET stands for
MOSFET dioog); D368 drrddooeh

(A) O Metal Oxide Semiconductor Field Effect Transformer
LS e351E DALoEEE DG DdE LV 6
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(B) O Metal Oxide Semiconductor Field Effect Transistor
S BFE PWEEZE DS 1§ V16

(C) O Metal Oxide Semiconductor Field Effect Transducer
205 e951E DAEoEEE DG DdE EPOVET§RE

(D) O Metal Oxide Semiconductor Frequency Efficient transistor
20 e951E DAKoEEE By DDA EPANIE

Question No.30

The process of comparing a physical quantity with a standard value is called

28 &AL DOITEPD) , 28 PO DewdHE TSy DD otrd.

(A) O control
Qodogses

(B) O transmission
EHAS(HR0)

(C) O feedback
‘ﬁbciwzgé

(D) O measurement
Sod(026008)

1.00

Question No.31

Which Temperature measuring instrument has higher accuracy and stability?
&30 EOB D Jrhd0 BB PD\SIB0 LOKL RBS50 $DAoL0R?

(A) O Resistance Temperarture Detector
3Ry BoD6 de3gd

(B) O Thermopiles
&8 2Sy

(C) O Thermistors
SO

(D) O Thermocouple
&8 DS

1.00

Question No.32

The basic architecture of computer was developed by
SOtozge)S SWE TG Qo ey eoe;')éég DEDIHO

(A) O Charles Babbage
TG0 Lerd

(B) O John Von Neumann
D ID Jogrd

(C) O Garden Moore
™8R o

(D) O Blaise pascal
& FOUS

1.00

Question No.33
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For less acidic solution, the pH and potential is and
respectively.
S Frow DDAES grdeedS pH Bwdasn THJobSen Sdeom S0B030 &0tTa.

(A) O less and positive
@&‘%5 Peblolowth) Cba"é&éo

(B) O more and negative
as:b.;s 0ok e Yo

(C) O more and positive
D) B BTG So

(D) O less and negative
ésozja Poblelevi) mwé&So

Question No.34 1.00

The speed at which the PLC scan memory is called
PLC 20208 IS S050 ey 90ET .

(A) O run time
G D030

(B) O compile time
02085 Va0

(C) O execution time
DOEREID 00300

(D) O scan time
.a»z,fo HAoDo

Question No.35 1.00

Name the external unit used to program the PLC.
PLCY Frrad S20608H e33R0t IE126) & 03350 (1800l

(A) O Programing Unit
o oh aLrdS

(B) O Power supply
Z.)csolgeS DEDHT
(€)O CPU
CPU

(D) O 1/0 device
IO &pd

Question No.36 1.00

The energy associated with forbidden band is called energy gap and its unit is
F0NES erfobid Doerocsnd) 33 DY D’ D Wotrdd. B Hewso:

(A) O Vv
\Y

(B) O eV
eV

(C)O mv
mV
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(D) O joules

Question No.37

is suitable for all constant speed application.
©d) DG D VRVIGTODH IRVETVOTT E0e00H.

(A) O Synchronous motor
20§D dorerd

(B) O Stepper motor
78&)‘36 ArErd
(C) O DC motor
G drerd

(D) O AC motor
DD Arerd

1.00

Question No.38

Which is the Contact type of level measurement?
THS 202620085 SPoer§ G%o B

(A) O Ultrasonic Method
eI’ IE Do

(B) O Radiation method
BAADND gedo

(C) O Laser level method
S26 FHS doedo

(D) O Capacitive Method
38D dpedo

1.00

Question No.39

Convert Octal number (472)g to Binary number
orod(egd ) Doy (472)8 &0 B Loy BrSy0G
(A) O 111000010

111000010

() O 100111010
100111010

() O 101011010
101011010

(D) O 100100101
100100101

1.00

Question No.40

Zener Diode is connected in to increase the voltage rating
SF& 5orad DoBooed B16 CAir& ™ EeOXDTR.

(A) O Across the Circuit
;()drblses @oeher

(B) O Forward bias
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[
Q"ovsé LO3°D
(C) O Series
33

(D) O Series-Parallel
33-DAToBG0

Question No.41

What is the Sl Unit of Flow?
288 Sl Hdreso AO?

(A) O Kilogram Per Second
85’ ran H6 VE&

(B) O Gallons per Minute
POy D6 QS

(C) O Litres Per Hour
He:6y 06 w6

(D) O Cubic meter per Second
oIS HE DE&

1.00

Question No.42

Which adjustment is made first in an instrument requiring Calibration?
SOBAR WBVEROD B0 BT @ DGoeTen SOOIV E0tot?

(A) O Linearity
BDosoeh

(B) O Hysteresis
202D
(5]
(C) O zero
;(».v:l

(D) O Dead band
G& ergol

1.00

Question No.43

Which one of the following optical transducers is an active transducer?
8008 RVEIGD BIRES EPOYVETIOEVES” DB 208 OIT IV EPOYET§RE?

(A) O Photo conductive cell
" S0t gD 25

(B) O Photo diode
DS° air&

(C) O Photo voltaic cell
D¢’ Sgwé 2S5

(D) O Photo transistor
D &6

1.00

Question No.44
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Dead Weight Gauge is used for the measurement of pressure
& dowes BS DT EDBoGIL 0PSB

(A) O about 1000 bar
orersy 1000 e

(B) O about 5000 bar
ororsy 5000 exrd

(C) O about 7000 bar
oraed) 7000 eé

(D) O about 2000 bar
ooy 2000 erd

Question No.45 1.00

Which is defined as ability of the instrument to reproduce a certain set of readings within a given
accuracy?

QOGRAD DN BSB0(CIPEBR)ES” 2.8 DR Slorbwry 80N e\ Sabrv 28 @533:3305 5"333"50;
D20 DEEDFE?
(A) O Accuracy
D\ B 0(CITEIBR)
(B) O Precision
2%

(C) O Reproducibility
OT I DO

(D) O Static error
¥98 Bo

Question No.46 1.00
The ratio of Inertia Force to Viscosity is known as
2B 200 SOOI i)g‘gév 206 zxqbeg:) €900
(A) O Cauchy Number
P Dot

(B) O Biot Number
e)a3oee5(Biot) doerd

(C) O Reynolds Number

3rS, dowd
&

(D) O Euler Number
asdred doerd

Question No.47 1.00

When the time delay is very short the order of system is:
Bo GT Trer SO €)LD, dYPo dg); g

(A) O higher order
A e.agé

(B) O cannot be determined
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Qg*’éo:ﬁejsa»

(C) O second order
gk GQS

(D) O first order
20 9395

Question No.48 1.00

Convert 150 deg Celsius to Fahrenheit.
150 & 2OYoHD ATV &S Jr6yod.

(A) O 301
301
B) O 302
302
() O 212
212
(D) O 300
300

Question No.49 1.00

LVDT accelerometers measures
LVDT o8rr8y58 ot 20 Sengrom.

(A) O rotation
FAPebeTe)

(B) O mass
BDg0°3

(C) O vibrations
EodI*e

(D) O speed
00

Question No.50 1.00
bridge is used for measurement of an inductance interms of capacitance.
BN DEOTT ROEEDYL EDBocioed Q& SDABPAoBIDBAD.

(A) O Wheatstone bridge
DTS 05

(B) O Owen's bridge
220 QG

(C) O Maxwell's bridge
27ENDS DE

(D) O Wein's bridge
D&

Question No.51 1.00

1+B =
14B =
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(A) O 2B
2B

B)O B
B

(C)O 1+B
1+B

D) O 1
1

Question No.52 1.00

Redctifier Instrument indicates
B§O0S AOPORVoEw ESATY eV

(A) O DC Value
G Dend

(8) O RMS Value
RMS e

(C) O Average Value
e dewd

(D) O Peak Value
o8 Dewd

Question No.53 1.00

Which is used for Modulation and Demodulation Purpose?
BPETD 200050 GITETAD YOIPRT VL SOATASLES IB?

(A) O Multiplexer
20886

(B) O Modem
QGO0

(C) O Gateway
365

(D) O Protocols

Question No.54 1.00

What is the main purpose of positioner in control valve?
EotS'S e e TFeadd g, VEd DICIPHEROG?

(A) O Alter the characterisation of the valve
Tee0Q AAE);, VEEF) SrdyEo

(B) O Increase the transmitter accuracy
;eybbéeaé PN ST (CBTPEBD) Docscso

(C) O Increase the precision of the valve
Teeg G POV dowsdio

(D) O Eliminate cavitation in the valve
a°e»56° B FTofotdto
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Question No.55 1.00

In the liquid level measurement, the resistive method uses as conductor
G 08D EusseS” BRPD Do, Loctgh(Trgo)m QA0 GEDATAR0S.

(A) O iron
QA

(B) O steel
e,sob

(C) O mercury
600

(D) O copper
o°H

Question No.56 1.00

Which factor determines the quality performance of A/D Converter?
A/D 8286 g, Treagm B JGanodd ©oF0e?

(A) O Resolution
éaw5:15

(B) O Speed and Linearity
Do B0Bo3L BHoeh

(C) O Sampling rate
Sreae e

(D) O All of the above
DIy

Question No.57 1.00

The thermal coefficient of resistance temperature detector is
6?‘)?8‘5.3 30836 dﬁgS cﬁo.)szI &%’% Oeso

(A) O positive
ama&So

(B) O may be positive or negative
BT So ST 20ETB) So SPdTVY

(C) O negative
wwé&so

(D) O None of the above
D A&

Question No.58 1.00

In a three phase system, the volt-ampere rating is given by
w8 8 OE :)553{866, £,85-e3020%6 S&0h B DRIADB0B.

A) O 3V,
3V, I,

B) O 0.3Vl
0.3V I,

(C)O Vi
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Vi

(D) O 1.73 VI,
1.73 VI,

Question No.59 1.00

What is the composition of T type Thermocouple?
T 85 68) 8 3E), DoraIRE?

(A) O Copper Constantan
06 BRI 0d

(B) O Chromel Constantan
DS 5°OFrotdd

(C) O Chromel Alumel
E06S s

(D) O Iron Constantan
DO SROF oD

Question No.60 1.00

Which method is used to measure the solid level in a vessel?
28 PGS 20D Jogr) BeLREITEIS D Ierdo &DAPAFE?

(A) O Radiation method
8A DD doedo

(B) O Fibre optic level method
FOTAL) e.aigé T3S deedo

(C) O Displacer Method
A5 Do

(D) O Ultrasonic method
eS8 Dordo

Question No.61 1.00

The 8051 has I/0O pins configured as four 8 bit parallel ports.
2.8 8051 Trenth 8 DES e e /0 B0y e 83416 BoDeact (DB BEBEIR) E0t0d.

(A) O 32
32
B) O 128
128
(c)O 16
16
(D) O 64
64

Question No.62 1.00

The current in a zener diode is controlled by
86 ABrES’ £80e5 BIB JoboBosercocinod

(A) O Potential barrier
FEJIoDES e oS

O
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(B) Reverse bias voltages
056y Laird SF&en

(C) O Zener Diode Resistance
836 cia3r& T30

(D) O External circuits
AN :’\)wbﬁg»

Question No.63

In which type of flow, the density of fluid remains constant?
9 B8R0 PIeS” YITET0 AVE) o Q0o es0t067?
(A) O Incompressible fluid

2D ZoRdenS(wodes) ESo
(B) O Steady Flow

26 D0

@
(C) O Unsteady Flow

S o

(D) O Compressible Fluid
Sodewsd Gdo

1.00

Question No.64

What is the name of the instrument or device recognized as a reference having true value?
TP DD EDAYG BHBIYT (DYocsRIED 28 A0 Sor DOEG DBE?

(A) O Reference
5’&)65')

(B) O Standard instrument
Fotsd DDA
(3 G &7/

(C) O Fixed instrument
DE\E @SiR0E

(D) O Ideal
DEAS

1.00

Question No.65

Which of the following topologies cannot be used for LAN?
806 TrAS” D 50 208 LANLD &0635°A0c36>?

(A) O Star
b
(B) O Ring
8oh

(C) O Bus

EAYS)

(D) O None of these
DB o

1.00

Question No.66
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What does IEC stands for with respect to safety in instrumentation?
BYYROOBNDS’ HBEBLD Doeotod) [EC c3ng) DRses GrdSoe?

(A) O Indian Electrical Commission
Q0GOHD JVFES END

(B) O Information of Electrotechnical Commission
fae‘%é&:q5 e .De)g GENES) RO

(C) O Indian Electrotechnical Commission
Q000D JOFHS) £S5 LD

(D) O International Electrotechnical Commission
Ro&3T) 2HS JOEEBS) §S END

Question No.67 1.00

Spectrum analysis is defined as the study of energy distribution across frequency spectrum of
given
RS0 DFE, ROGEED A0E), DI RYEDoP 38 Darado cIng), iAo ASDoSEIS.

(A) O magnetic signal
w(ﬁ‘lé%é 5.0(5;6

(B) O electrical signal
QULES i) S

(C) O electromagnetic signal
JOE1) B 2ehY S

(D) O None of the above
PAE o

Question No.68 1.00

What is the use of three phase four wire energy meter?
858 TP DY DG b GRwg), EDARHEROY?

(A) O To measure 2 Phase energy
2 8 33D EB0c

(B) O To measure 3 Phase unbalanced energy
3 58 vy 33 EdSJocoH

(C) O To measure 3 Phase balanced energy
3 0B vAEVy 38 EdBocwH

(D) O To measure single phase energy
0oAS DB 33D §OB0c0H

Question No.69 1.00

What is the responsibility of TCP?
TCP aq0g), ereS DE?

(A) O Obtain the address
9D Tocdcto

(B) O Delivery of data to that address
e 9L Eera BEdoh o
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(C) O Designing the system
2%H50%0 EZS Bobeto

(D) O Both Obtain the address & Designing the system
9D Tocdcto & ‘70:“85.)86.) A8 Yoo Todr

Question No.70

SCADA stands for
SCADA c3wg) I8 6570

(A) O Synchronous Control and Digital Acquisition
208 3D oSS ol GeeseS esése%‘o.'q.S

(B) O Supervisory Control and Digital Acquisition
06220 LofS'S wols GRS 8RS

(C) O Supervisory Control and Data Acquisition
206228 Sof'S wol der wdBNDd

(D) O Synchronous Control and Data Acquisition
2080 S0t ok Eer SRR

1.00

Question No.71

What is Point Accuracy?
F00t5 LB otl AB?

(A) O Only at one point on its scale
& )0 8 w8 Jrawods HY

(B) O True value of the quantity
00ATER0 WL, TP DD

(C) O Scale range
2,8 33

(D) O Many points on its scale
o e Ty Janokw

1.00

Question No.72

Digital instruments have input impedance of the order of

GRS ADOBVH g0 aDDE 03T B0(R0DEDY) Eotnod.

(A) O milliohm
9 Lo

(B) O ohm
LSV

(C) O kiloohm
8¢5° L0

(D) O megaohm
o &

1.00

Question No.73

What is the input of controller?
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SofS'ob i) AR DB?

(A) O Desired variable value
SPHVNN BVITF Dend

(B) O Signal of fixed amplitube not dependent on desired variable value
&) otariE A M) S SPHVVD BET°F JLVBP VEPEDE €060

(C) O Error signal
8 Do8do (86 Hi) &)

(D) O Sensed signal
Ergs Ro8so

Question No.74 1.00

Which Storage is Volatile in nature?
FErdgorr d FBE REIB?

(A) O Main Storage
oo P8

(B) O Auxilary Storage
e0e06(esfod) 58

(C) O Cache Memory
5P Db

(D) O Both Auxilary Storage & Cache Memory
0e0e(esfod) T8 & s 2008 Tockr

Question No.75 1.00

is an elementary device that converts electrical signal to straight line .
DS D08 VOV BT Gy FEE OSSO

(A) O Relay
fol3]

(B) O Valve
oS¢

(C) O Motors
RIS

(D) O Solenoid
PSroné
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